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#include <stdio.h>

#include <math.h>

#include "util.h"

#include "matrix.h"

#include "Legendre.h”
#include "SincSystem.h"
#include "Problem.h™
#include "Onedimension.h"
#include "Twodimension.h"
void LSinc2DSemi(double,double,double*,double*);

void LSinc2DAB(double,double,double*,double*);

main()

{
int i,j,k,I,m,n,np,mp,N;
int Ms,Ns,ms,Mt,Nt,mt;
double ro,aph,h,xi,error;

double hs,ht,Lms,Lns,Lmt,Lnt;

ro = 1.0; aph = 4.0*Pi/2.0;
LSinc2DSemi(ro,aph,&Lms,&Lns);
LSinc2DAB(ro,aph,&Lmt,&Lnt);

print(Lmt); print(Lnt);
hs = 0.235; ht =0.095;

for(N = 2;N <= 30;N+=2){
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Ms=N; Ns=N;

ms = NS+Ms+1;

Mt = 2%N/2; Nt =2*N/2;
mt = Nt+Mt+1;

vector x(ms),ss(ms),svi(ms),sus(ms);

vector y(mt),tt(mt),tvi(mt),sut(mt),bd(mt);

vector lams(ms),lamt(mt),pdass(ms),pdast(mt);

matrix Qs(ms,ms),Qt(mt,mt),Ltt(mt,mt),uk(ms,mt),us(ms,mt);
matrix F(ms,mt),U(ms,mt);

hs = (Lns-Lms)/(ms-1);

ht = (Lnt-Lmt)/(mt-1);

for(k = -Ms;k <= Ns;k++)
X[Ms+k+1] = spss((double)k*hs);

for(k = -Ms;k <= Ns;k++)
ss[Ms+k+1] = (double)k*hs;

for(k = -Mt;k <= Nt;k++)
y[Mt+k+1] = spst((double)k*ht,0.0,aph);

for(k = -Mt;k <= Ntk++)
tt[Mt+k+1] = (double)k*ht;

for(j = 1;) <= mt; j++)

bd[j] = ur(ro,y[j].aph);
for(i = 1;i <= ms;i++)

for(j = 1;j <= mt;j++)

ULi0] = ut(x[iLy[i1,r0,aph);
EigenValuesProblem(x,ss,y,tt,0.0,aph,hs,ht,Qs,Qt,lams,lamt,Ltt,pdass,pdast);
uk = CoefSincSemi2D(Ltt,Qs,Qt,lams,lamt,pdass,pdast,bd,x,y,r0,aph);

for(i = 1;i <= ms;i++)
for(j = 1;j <= mt;j++)

us[i][j] = uk[i]li]+bd[i]*swph(x[i]);

printf("%d %e \n",ms*mt,Max(Abs(us-U)));
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void LSinc2DSemi(double r0,double aph,double *Lms,double *Lns)
{
inti,j,imax = 200;
double I,11,zero;
vector a(imax);
for(i = 1;i <= imax;i++){
| =0.03%i;
for(j = 1;j <= imax;j++){
Il =0.01%;
a[j] = ut(spss(l),spst(11,0.0,aph),r0,aph);
}
zero = Max(a);
if(fabs(zero) < 1.0e-16)

break;
}
*Lns=1;
for(i = 1;i <= imax;i++){
| =-0.01%i;
for(j = 1;j <= imax;j++){
Il =0.1%j;
a[j] = ut(spss(l),spst(11,0.0,aph),r0,aph);
}
zero = Max(a);
if(fabs(zero) < 1.0e-16)
break;
}
*Lms=1;

void LSinc2DAB(double r0,double aph,double *Lms,double *Lns)
{

inti,j,imax = 200;
double I,11,zero;
vector a(imax);

for(i = 1;i <= imax;i++){
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| = 0.03%i;
for(j = 1;j <= imax;j++){
Il =0.01%j;
a[j] = ut(spss(ll),spst(1,0.0,aph),r0,aph);
}
zero = Max(a);
if(fabs(zero) < 1.0e-16)

break;
}
*Lns =1,
for(i = 1;i <= imax;i++){
| =-0.01%i;
for(j = 1;j <= imax;j++){
II=0.1%j;
a[j] = ut(spss(Il),spst(l,0.0,aph),r0,aph);
}
zero = Max(a);
if(fabs(zero) < 1.0e-16)
break;
}
*Lms =1,
}
void EigenValuesProblem I wiilgmaumaFadudlonuname
(
vector x,vector xx,vector y,vector yy,double a,double b,double hx,
double hy,matrix Qx,matrix Qy,vector lamx,vector lamy,matrix Lyy,
vector pdashx,vector pdashy
)
{

inti,j,mx = X.rows,my =y.rows;

vector ddx(mx),ds(mx);

matrix 12x(mx,mx),Lx(mx,mx),Lxx(mx,mx),Ax(mx,mx);
vector ddy(my),dt(my);

matrix 12y(my,my),Ly(my,my),Ay(my,my);
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12x = 12(mXx);
12y = 12(my);
for(i = 1;i <= mx; i++)
pdashx[i] = 1.0/spds(xx[i]);
for(i = 1;i <= my; i++)
pdashy[i] = 1.0/spdt(yy[i],a,b);
for(i = 1;i <= mx; i++)
ddx[i] = sgrt(pdashx[i]);
for(i = 1;i <= my; i++)
ddy[i] = sart(pdashy[i]);
for(i = 1;i <= mx; i++)
ds[i] = digs(xx[i]);
for(i = 1;i <= my; i++)
dt[i] = digt(yylil);
Lx = (-1.0/(hx*hx)*I2x+DiagonalMatrix(ds));
Ly = (-1.0/(hy*hy)*I12y+DiagonalMatrix(dt));
Lyy = Ly*DiagonalMatrix(ddy);
Ax = DiagonalMatrix(pdashx)*Lx*DiagonalMatrix(pdashx);
Ay = DiagonalMatrix(pdashy)*Ly*DiagonalMatrix(pdashy);

JEigenSystem(Ax,lamx,Qx);
JEigenSystem(Ay,lamy,Qy);
eigsrt(lamx,Qx);

eigsrt(lamy,Qy);

}

matrix CoefSincSemi2D I wdtlymaumasadu

(
matrix Lyy,matrix Qx,matrix Qy,vector lamx,vector lamy,vector pdashx,
vector pdashy,vector bd,vector x,vector y,double r0,double aph)

{

int i,j,MxX = X.rows,my = y.rows;

matrix F(mx,my),FN(mx,my),G(mx,my),H(mx,my)
matrix W(mx,my),V(mx,my),U(mx,my);

matrix P(mx,my),Q(mx,my);
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vector sx(mx),sy(my);
vector prootx(mx),prooty(my),dfy(my);

for(i = 1;i <= mx; i++)
prootx[i] = sqrt(1.0/pdashx[i]);
for(i = 1;i <= my; i++)
prooty[i] = sqrt(1.0/pdashy][i]);
for(i = 1;i <= my; i++)
dfy[i] = pow(pdashyfi],1.5);
for(i = 1;i <= mx; i++)
for( = 1;j <=my; j++)
PLiI[] = swph(x[i])*bd[i];
for(i = 1;i <= mx; i++)
for(j = 1;j <= my; j++)
Q[i]0] = swphd(x[i])*bd[j];

for(i = 1;i <= mx;i++)
for(j = 1;j <= my;j++)
F[i101 = fr(x[iL.y[i1.r0.aph);

FN= (F-P*Transpose(Lyy)*DiagonalMatrix(dfy)-Q);

G = DiagonalMatrix(prootx)*FN*DiagonalMatrix(prooty);
H = Transpose(Qx)*G*Qy;

for(i = 1;i <= mx; i++)
for(j = 1;j <= my; j++)
WG] = HIG)/ (lamx[i]+lamy(j]);

for(i = 1;i <= mx; i++)

sx[i] = 1.0/prootx[i];
for(j = L;j <= my; j++)

sy[j] = 1.0/prooty[j];

V = Qx*W*Transpose(Qy);
U = DiagonalMatrix(sx)*V*DiagonalMatrix(sy);
return U;



54

double ft(double eta,double th,double r0,double aph)

{
return exp(-2.0*(eta-log(r0)))*fr(exp(-eta+log(r0)),th,aph);
}
double ur(double r,double th,double aph)
{
return r*(1.0-r)*sin(Pi*th/aph);
}
double ut(double eta,double th,double r0,double aph)
{
return ur(exp(-eta+log(r0)),th,aph);
}
double Ipss(double s,double L)
{
return sinh(L*acos(s)/Pi)*sinh(L*acos(s)/Pi);
}
double spst(double x,double a,double b)
{
return ((b*pow(E,0.5*Pi*sinh(x)) +a*pow(E,-0.5*Pi*sinh(x)))/(pow(E,-
0.5*Pi*sinh(x))+pow(E,0.5*Pi*sinh(x))));
}
double spss(double x)
{
return exp(x-exp(-x));
}
double spds(double x)
{

return ((1+exp(x))/exp(exp(-x)));
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double spdt(double x,double a,double b)

{
return (-(a-b)*pow(E,Pi*sinh(x))*Pi*cosh(x)/pow(1.0+pow(E,Pi*sinh(x)),2.0));
}
double spsroot(double x)
{
return sqrt(spds(x));
}
double sptroot(double x,double a,double b)
{
return sqrt(spdt(x,a,b));
}
double digs(double x)
{
return (7.0 + exp(-2.0*x)+4.0/exp(x)+2.0*exp(X)
+exp(2.0*x))/(4.0*(1.0+exp(x))*(1.0+exp(x)));
}
double digt(double x)
{
return 0.25*(-2.0+ Pi*Pi*cosh(x)*cosh(x)+3.0*tanh(x)*tanh(x));
}
double swph(double x)
{
return (exp(-x)*(1.0+x));
}
double swphd(double x)
{

return (-exp(-x)*(x-1.0));
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/Naanaa vector

class vector

{

public:
int rows;
double *x;

vector(intr);

vector(const vector&);

~vector() {}

int size(){ return rows;}

double& operator[](const int i) { return x[i]; }
double operator[](const int i) const { return x[i]; }
void print(void);

double norm_2(void);

vector& operator=(const vector& v);

vector& operator=(const double& d);
vector& operator+=(const vector&);

vector& operator-=(const vector&);

friend vector operator+(const vector&, const vector&); Il vector+vector

friend vector operator-(const vector&, const vector&); I vector-vector

friend double operator*(const vector&,const vector&); Il vector*vector

friend vector operator*(const vector& v, const double d); Il vector*scalar

friend vector operator*(const double d,const vector& v) /I scalar*vector
{returnv * d; }

friend int operator==(const vector&,const vector&); I equality

1

vector::vector(int r)
{
if(r<0){
cout << "error\n";
exit(0);
}

rows =r;
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X = new double[r+1];

vector::vector(const vector& other_vector)
rows = other_vector.rows;
X = other_vector.x;

vector& vector::operator=(const vector &v)
{
if(this == &v)
return *this;
for(inti=1;i<=rows; i++)
X[i] = v.x][i];
return *this;

vector& vector::operator=(const double &d)

{
for(inti=1; i <=rows; i++)
X[i] =d,;
return *this;

}

vector& vector::operator=(const double &d)

{
for(inti=1; i <=rows; i++)
X[i]=d,;
return *this;

vector& vector::operator+=(const vector &a)

{

if (a.rows !=rows)

{

/Iv+=a
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cout << "vector a += vector b different sizes, a =" << rows
<<",b="<<arows;
exit(0);
}
int sz = rows;
for (inti=1;i<=sz; i++)
(*this )[i] += a[i];
return *this;

}
vector& vector::operator-=(const vector &a) Ilv-=a
{
if (a.rows !'=rows)
{
cout << "vector a += vector b different sizes, a =" << rows
<<", b="<<arows;
exit(0);
}
int sz = rows;
for (inti=1;i<=sz; i++)
(*this )[i] -= a[i];
return *this;
}
vector operator+(const vector& a, const vector &b) I v=a+b
{
if (a.rows !'=b.rows)
{
cout << "vector a + vector b different sizes, a =" << a.rows
<<". b ="<<Db.rows;
exit(0);
}
int sz = a.rows;

vector sum(sz);

for (inti=1;i<=sz; i++)
sum.x[i] = a.x[i] + b.x[i];

return sum;
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vector operator-(const vector& a, const vector &b) Il v=a-b

{

if (a.rows !'=b.rows)

cout << "vector a + vector b different sizes, a =" << a.rows
<<" b="<<h.rows;
exit(0);
int sz = a.rows;

vector sum(sz);
for (inti=1;i<=sz;i++)

sum.x[i] = a.x[i] - b.x[i];

return sum;
}
double operator*(const vector &a,const vector &b) I v=a*b
{
if (a.rows !=b.rows)
{
cout << "vector a * vector b incommensurate, a =" << a.rows
<< " b="<<h.rows;
exit(0);
}
inti, sz = a.rows;
double prod, zero = 0.0;
for (i =1, prod = zero; i <= sz; I++)
prod +=a.x[i] * b.x[i];
return prod;
}
vector operator*(const vector& v, const double d) Ilv=a*d
{

inti, Sz =v.rows;
vector b(sz) ;
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for (i=1;i<=sz; i++)

b.x[i] = v.x[i]*d;

return b;
}
int operator==(const vector &a,const vector &b)  // inti=(a==h)
{
if (a.rows !'=b.rows)
{
cout << "vector a and vector b different sizes, a =" << a.rows
<<" b="<<h.rows;
exit(0);
}
inti, sz = a.rows;
intl=1;
for (i =1;1<=sz; i++)
I =1&& (a[i] ==Db[i]);
return |;
}

/Naa aaa matrix

class matrix

{

public:
double **m;
int rows,cols;
matrix(const int,const int); /I constructor
matrix(const matrix&); Il copy
~matrix(){} /I destructor
matrix& operator=(const matrix&); /I substution

double* operator[](const int i){return m[i];}
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double* operator[](const int i) const {return m[i];}
int getrows(void){ return rows;}
int getcols(void){ return cols;}

void resize(int r,int ¢){ rows = r;cols = c;} /I resize
void print(void); /I print elements
void diag(const double fv); /1 set diagonals

vector Rownumber(const int i);
vector Colnumber(const int j);

friend matrix operator+(const matrix&,const matrix&); /I Matrix+Matrix
friend matrix operator-(const matrix&,const matrix&); Il Matrix-Matrix
friend matrix operator*(const matrix&,const matrix&); /I Matrix*Matrix
friend matrix operator*(const double&,const matrix&); // double*Matrix
friend vector operator*(const matrix&,vector&); Il Matrix*vector
friend int operator==(const matrix&,const matrix&); /I equality
Y
matrix& matrix::operator=(const matrix &a) /1 AV UAR NN A N3 ne
{
inti,j;
if (this==&a)

return *this;
if (a.rows !'=rows || a.cols !=cols)
if (rows !=a.rows)
cout << "rows =" << rows << ", a.rows =" << a.rows;
if (cols !'=a.cols)
cout << " cols =" << cols << ", a.cols =" << a.cols;
exit(0);
for (i=1; i <=rows; i++)
for (j = 1; j <=cols; j++)

m[i][] = a.m[i]Q];

return *this;
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void matrix::print(void)

{
inti;
for(i = 1; i <= rows; i++){
for(j = 1; j <= cols; j++)
printf("%6.3If ", m[i][j]);
printf("%18.161f ", m[i][j]);
printf(*\n™);
}
printf(*\n*);
}
void matrix::diag(const double a) /l ﬁ%’Nmw?mﬁmuamuﬁaﬂmﬂm{
{
int i, iend;
iend = rows;
if (iend > cols)
iend = cols;
for (i=1;i<=iend; i++)
m[i][i] = a;
}
matrix operator+(const matrix &a,const matrix &b) I N3 AgUINUNT A
{
if (a.rows !'=b.rows || a.cols !=b.cols)
{
if (a.rows !'=h.rows)
cout << " a.row =" << a.rows << ", h.row =" << b.rows;
if (a.cols !=b.cols)
cout << " a.col =" << a.cols << ", b.col =" << b.cols;
exit(0);
}

inti, j, row = a.rows, col = a.cols;
matrix sum(row,col);
for (i =1; i <=row; i++)
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for (j = 1;j <=col; j++)

sum.m[i][j] = a.m[i][j] + b-m[i1[jl;

return sum;
}
matrix operator-(const matrix &a,const matrix &b) I wn3asaummsng
{
inti, j;
if (a.rows !'=h.rows || a.cols !=b.cols)
{
if (a.rows !'=b.rows)
cout << "a.row =" << a.rows << ", h.row = " << h.rows;
if (a.cols !=b.cols)
cout <<"a.col =" <<a.cols << ", b.col =" << b.cols;
exit(0);
}
int row = a.rows, col = a.cols;
matrix diff(row,col);
for (i = 1; i <=row; i++)
for (j = 1;j <=col; j++)
diff.m[i][j] = a.m[i][j] - b.m[i][];
return diff;
}
matrix operator*(const matrix &a,const matrix &b) i Luﬂ%‘ﬂcﬁ@mmm?ﬂcﬁ
{
if (a.cols !=b.rows)
{
cout << "matrix a * matrix b incommensurate, a.cols = " << a.cols
<<", b.rows =" << b.rows;
exit(0);
}

inti, j, k, row = a.rows, col = b.cols, size = a.cols;
matrix prod(row,col);
double zero = 0.0;
for (i=1; i <=row; i++)
for (j = 1; j <= col; j++)
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for (k = 1, prod.m[i][j] = zero; k <= size; k++)
prod.m[i][j] += a.m[i][k] * b.m[K][j];
return prod;

}
matrix operator*(const double &d,const matrix &a) 1 aﬁmauﬁﬂﬂmmm?ﬂcﬁ
{

inti, j, row = a.rows, col = a.cols;

matrix b(row,col);

for (i=1;i <=row; i++)

for (j = 1; j <= col; j++)
b.m[i][i] = d * a.m[i][];

return b;

}

int operator==(const matrix &a,const matrix &b)  //SeuisuA NI A

{

if (a.rows !'=b.rows || a.cols != b.cols)

{
if (a.rows !'=h.rows)
cout << "matrix a and matrix b different sizes a.row =" << a.rows
<<", b.row =" << b.rows;
if (a.cols !=b.cols)
cout << "matrix a and matrix b different sizes, a.col =" << a.cols
<<", b.col =" << b.cols;
exit(0);
}
inti, j, row = a.rows, col = a.cols;
intl=1;

for (i = 1; i <= row; i++)
for (j = 1; j <=col; j++)
I =1&& (a.mli][j] == b.m[i][j]);
return |;

}

matrix DiagonalMatrix(vector a)

{
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intij,n=a.rows;
matrix A(n,n);
for (i=1;i<=n;i++)
for (j=1;j<=n;j++)
Ali]0] = ((i==}) ? a[i]:0.0);

return A;

matrix DiagonalMatrix(double a,int n)
{
inti;
matrix A(n,n);
for (i=1;i<=n;i++)
for  =1;j <=n; j++)
Ali]lT = ((1==]) ? 2:0.0);

return A,

}

matrix Abs(matrix M)

{
intij,r = M.rows,c = M.cols;
matrix A(r,c);
for(i=1;i<=r;i++)

for(j=1;j<=c;j++)
Ali][i] = fabs(M[I10]):;

return A,

}

void JEigenSystem(matrix a,vector d,matrix v)
{
int j,iq,ip,i,n=a.rows;
double tresh,theta,tau,t,sm,s,h,g,c;
vector b(n),z(n);
for (ip=1;ip<=n;ip++) {
for (ig=1;ig<=n;ig++)v[ip][iq]=0.0;
v[ip][ip]=1.0;
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for (ip=1;ip<=n;ip++) {
blip]=d[ip]=alip][ip];

z[ip]=0.0;

}

for (i=1;i<=100;i++) {
sm=0.0;

for (ip=1;ip<=n-1;ip++) {
for (ig=ip+1;iq<=n;iq++)
sm += fabs(a[ip][iq]);
}
if sm==0.0){
z = ZeroVector(n);
b = ZeroVector(n);
return;
}
if (i<4)
tresh=0.2*sm/(n*n);
else
tresh=0.0;
for (ip=1;ip<=n-1;ip++) {
for (ig=ip+1;ig<=n;ig++) {
g=100.0*fabs(a[ip][iq]);
if (i >4 && (float)(fabs(d[ip])+g) == (float)fabs(d[ip])
&& (float)(fabs(d[iq])+g) == (float)fabs(d[iq]))
a[ip][iq]=0.0;
else if (fabs(a[ip][iq]) > tresh) {
h=d[iq]-d[ip];
if ((float)(fabs(h)+g) == (float)fabs(h))
t=(a[ip][ial)/h;
else {
theta=0.5*h/(a[ip][iq]);
t=1.0/(fabs(theta)+sqrt(1.0+theta*theta));
if (theta<0.0) t=-t;
}
c=1.0/sqrt(1+t*t);
s=t*c;
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tau=s/(1.0+c);
h=t*a[ip][iql;
z[ip] -= h;
z[iq] += h;
d[ip] -= h;
d[iq] += h:
a[ip][ia]=0.0;

for (j=1;j<=ip-1;j++) {
ROTATE(a,j,ip,j,iq)

}

for (j=ip+1;j<=ig-1;j++) {
ROTATE(a,ip,j,j,iq)

}

for (j=ig+1;j<=n;j++) {
ROTATE(a,ip,j,iq,j)

}

For (j=1;j<=m;j++) {
ROTATE(V,j,ip,j,iq)

}

for (ip=1;ip<=n;ip++) {
b[ip] += z[ip];
d[ip]=b[ip];

Z[ip]=0.0;
}
}
printf("Too many iterations in routine jacobi\n");
}
void eigsrt(vector d,matrix v)
{

int k,j,i,n = d.rows;

double p;

for (i=1;i<n;i++) {
p=d[k=il;
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for (j=i+1;j<=n;j++)
if (d[j] >= p) p=d[k=ij];

if (k!1=1){
d[k]=d[i[;
d[i]=p;
for (j=1;j<=n;j++) {
p=v0lliL;
VOILT=vhIIKT
V[i][kI=p;
}
}
}
}
vector ZeroVector(int n) //ﬁ%’m’mmai‘{ﬁuéf
{
inti;
vector Zero(n);
for(i=1;i<=n; i++)
Zero[i] = 0.0;
return Zero;
}
ROTATE(a,i,j,k,l)
{
g=a[i][il:h=alk][I;a[i][j]=g-s*(h+g*tau);a[k][l]=h+s*(g-h*tau);
}

matrix Transpose(matrix M)
{
inti, j, r = M.cols, ¢ = M.rows;
matrix A(r,c);
for(i=1;i<=r;i++)
for j=1;j<=c;j++)
Ali]lil = ML

return A;
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